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Q.1.
Sol.

Q.2.
Sol.

Solve by using factrization mcthod.
x'=dx-12 =9
' =6x+2x-12 =0
(x’ =6x)+(2x-12) = ¢
Mx-6)+2(x-6)=0
(x—6)(x+2)=0

If x-6=0

then x=6

and if x+2=0

then x=-1
85 ={6,-2}

x'=6x+5 =

X*=x=5x+5 =
(x!=x)=-(5x-5) =¢

xx=1)=-5x-1)=10

(x=INx-5)=0
I x-1=0
then x=1
and if x-5=0 '
then =5
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0.3,

Sol.

Q.4.

Sol.

SS.={lL,5)
V=8 7x
X1+7I-3 :U

X' +8x-x-8 =

(.l"’ +

x{x +

Bx)-(x+8) =

8)-l(x+8) =0

(x +8)x-1)=0

If

then

N

If

and if
then

x+8=40
x=—3

x=-1=0
x=1

Solution set = {- 8, 1}

Ex = X2 +6

0=x"+6-5x
x'+6-5x =0
x'=5246 =

x'=2x-3x+6 =0

(x-2x)=-(3x-6) = ¢

x(x-2)-3(x-2)=0

then

(x—2)(x- 3))=0
x-2=0

r=2
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and if N -~.(jl

then D=

Solution st = 12, 3}

0.5, I =10y + 8 - 0
Sol 3 —6x-4x+8 - @
(3x* =6x)-(dx-8) - 0

I(x=2)-4(x-2)=0
(x=2)3x-4)=0
If x=-2=0

‘ —"
then X =4 ]

andif 3x-4=0
3x

I
=

I

then X

Q.6. 2 +15x-8 = ¢
Sol. 2x'-x+16x-8 =
(2x’ = x)+(16x-8) -0
M2x-1)+8(2x-1)=0
(Ix-1)x+8)=0

If 2x-1=0

2x = |

4
3
Solution set = {3

| &

}
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then X=_
and x+8 =10
then X =38
Solution set = %‘_g}
Q.7. i(Jr+l) =3
4
Sol. 4[%](1"* 1) =3 x4 (Muliply by 4)
xx+1)=12
X 4x =2

x*4x-12 =9
Y 4dx-3x-12 =

(x? +4x)-(3x+12) - 0

M(x+4)-3(x+4)=0

(x+4}x-3)=0
If x+4 =0
then [x=—4

andif x-3=0

then x=3

Solution set = {-4, 3}
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Q8. I -8x-3 2

Sol. 3x! -9y 4 X=3 =
Gx'=9x)+(x=3) = ¢

Ix=3)+ 1(x-3) =0
(x=3)3x+1)=0

If x-3=0

then rx=3,

and 1f Ix+1 =0

3Ix =~
1
then X =‘§'
Solution set = 3‘_1
3
o
2.7 2¢v = Z 43
X

Sol. (Muluply by x)

x(2x) = I[?‘—]*-}(I)
X

2x" =24 3%
2x' =3x-2 =
2’ —dx+x-2 =
(2x' =4x)+(x=2) = o
2d(x =2)+ 1 (x=2)=0
(x=-2}2x+1)=0

——
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If x-2

i
=

I
[ o8

then X

and f 2x+ 1 =0

2x =~
I

then |X =—5'

Solution set = {2‘_1}

2
Q.10. Sx’-6x-8 =
Sol. 5’ -10x+4x-8 =
(SIZ—|O.T)+(4X-8) =0
Sx(x-2)+4(x-2)=0
(x=2)5x+4)=0
If x-2=f

then x=2

andif Sx+4=1

then X =——

Solution set = {2,&}

5
Q.11 (x+3)(x-2)=0
Sol. If x-2=0

then LX=2
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Sol.

Q.13.
Sol.

and if 2x+3 =90

2x=-3
pen =2
then 5

Solution set = {7_‘_3}'

2

Qx+1)(5x-4) =0

If 2x+1 =0

2x = -]
| o1
then = 5

and if 5x-4=0

5x =4

4

then .= g

U2

QBx-1) -2 =(2x - 1)(5x+1)
12x* =4x-2 = 10x? -3x-1

Solution set

12x* =10x" -4x+3x-2+1 =

2xP-x-1 =90
2x' =2x+x-1 =0
2x? =2x)+(x-1) =

2dx- 1)+ 1(x=1)=0
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(x=IN2x+1)=0
If x-1=0
then x=]

and if 2x+1 =0

=1

X ===

then 5

Solution set = {L_l}
5

—

11- Solve by completing the square method.

Q.14 x?=10x-3 =9

Sol. x'=10x = 3

10
> =5 then add (5)° on both sides

x!=10x+(5)" = 3+(5)°
(x=5)" =3+25
(x=5)" =28
(By taking square rooton both sides)
x—5=+/28
x-5= 27
x=5+27

Sol.

. 6 .
5 =3 then add (3)’ on both sides

x'=6x =3
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x'=6x+(3)} = 3+(3)°

(x=3)? =3+9
(=3 =12
(By taking square root on  both sides)
x-3= :b/E
x= ‘.tz\/i
x=3+23
Qla x’+x-1=0
Sol. l 3 xX+x =1
Adding [;] on both sides
- 1y - 1Y
x'+x+ T 14| =
5) “(3)
[I-#-l\‘ = 1+l
2 ] 4
(1Y) o 4+l
x+-_; 4
\ ‘“‘J
. I\E _ 2
X+— 3
! )

(Taking square root)

JE
V5

2

-
+
b | =
I
4
%

-+

I
2
LIPY
2t

Sl

+
2

]
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Q.17 Cahr-1 - 0

Sul Y46y - 3
1§ . .
E =3 then (3) adding on both sides

,\':+ﬁ,w'+(3}' =3+03)

(v+3) =34+9
(x+3) =12
x+3 = +J12 (Taking square root)
x+3=423
x=-3:+283
QIR 2 —dx 41 = 0
Sol, 207 =4y =

Divided by co-cfficient 2 of x.
: |

=2 = _1
~

-

=1, add (1) on both sides

(R O '

.-‘__“_l. (112 3
X -\ *l” = __+l”

(x=1) l

il

I

I
+

(x=1)’

thus, I=H:JI
=
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Q.19. 20 -6y 43 =0
Sol. I2x'-6x ==
Divided by co-clticient 2 of x.
X' =3x = _.3_
2
3 |
Adding | 5| on both sides
::c:-f‘>.1r-l=[iW = _14,{.3_]
9 "2
2 ] = \4
3y 3,2
o 22
\ /
¢ 3\1 _ —'73+9
I—_—
C2)
L -
" 2)
1—3W =3
2
/
. x—g = ++/3 (Taking square root)
5
3
x=21V3
2
(= 3%2V3
2
Sol. 3x'+5x =4

Divided by 3 co-cfTicient of x.

, 4
.t"+§.f = '3'
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5) 5 5Y
O’

0

to |

1[3

Adding [

vV +me+n

Q2L
Sol. .
A mY
Adding [ 5 ]
m

X +mx+ [
-

=

X"+ mx

on both sides.

)
-

( mY
X+ —

ra

i

il

0

] on both sides

73
:t—\/-{,:('l'aking square root)
5,V1
6 6

-S:Jﬁ

—_— e ==

{]

m

C—

2

£

2
[ ] -
H‘II

—=-n
4

m? -4n
4

m —d4n
t _4— (Taking square nxot)
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Sol.

X - n ;;3'4”
_Ei. 1
¥ : rr:+m
e
2
llx- = 6x+ 21
Hx  =6x =21
6 21
1 -_x —_— —— ' . 1 =1 A |
T T (Divided by 11)
_‘_ 3 3 :
T adding _l] on both sides
6 3Y -3 : 21
V- — x4+ |— = Y
o) oo
o3y .9 +2|
X—— 171 11
121 11
Ly
. 1y _ 9+331
-"'ﬁ 121
, 3y 240
-"—r” 121
o3 o [0
Ot m (Taking square root)
3 - [rexis
: 1
11 11=11
-2 =t4,/15
11 Il
- 3. 45
— 4
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Q. 2¢° +8x-26 =
Sol. , 2x* +8x =26

' +4x = 13 (Dividing by 2)

K|
57 2 adding (2)? on botl, sides.
X Hdx+(2)Y = (2 +13
(x+2)° =4+13
(x+2) = 17
x+2= i\/ﬁ (Taking square root)
X = —Zi\/ﬁ
Q4. 5¢°=20x-28 =¢
Sol. Sx’ -20x =28
2 28
X" -dx = S (Divided by 5)
i =2, Adding (2)? on both sides.
7
X' -4x+(2) - (2)? +_:2_8.
5
(x-2) = 4,28
5
(x_z)l’ _ 20+28
5
(.l"- 2)2 = 5—8—
5
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- {48
X~ = + ? (Taking square root)

x-2= tiﬂ
J5
- 443
£ 21:—\—/—\%—- (Rationalize)
X = 114"@*”@‘
s s
a = 214\/1_5

5
X = ____lOi:\/G Ans.

QJS. .I'I‘III‘:.,G = {)
Sol. x'=1lx =26

Ny _
Adding [17] on both sides.

2 \2
, Hy - (1
x'=1lx+ -5, [?] +26
( ll"‘z :.]_2_I+26
I-T 4
C oy L 1214104
X== 4
\ 21 |
oy =
X== 4
\ 2-‘
11 '225
I—‘i‘ =+ —4— (Taking square rool)
15
x---l-l it

2 2
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-ma

BRI
l-——-1——

272
11415
'l!.‘

2
o H415 1115
| 2 72
26 -4
VS e —

2 2
y=13 =2

’

SS. = 1{13,-2)

5.3  The Quadratic Formula

If v A by =0 a=(

h 4 V'rh"' -4ac

then X

Ja

Solve using quadratic formula:

Q.1 ¥ - Axd 6 =i

Sol. Here a=1
h=-5
¢=6

(Formula)

Putting values ol . b, ¢



Rectangle


